sh Signage	Project No #6005712 6.2	3:00 PM	83-DS	rida) Oakhurst Signs, Inc.	\$140,364.75	\$140,364.75		
Coquina Beach Signage	Requisition # R048895 P	November 14, 20113:00 PM	RFQ#11-2783-DS	West Central Signs Inc. DBA: Signstar (Tampa Florida)	\$149,019.00	\$144,315.00		
	Req				QUOTE PRICE 30 Calendar Days	QUOTE PRICE 45 Calendar Days	Please note an award has not been made as of this transmission	Prepared by DMStevens 12/13/2011

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs	Price Each		Total
R/ASS	SECTION .						
	1	Authorized Vehicles Only (field verify location with lifeguard and maintenance personnel)	12"x18"	6	\$ 45.00	\$	270.00
	2	Handicapped Parking (with symbol)	12"x18"	19	\$ 95.00	\$	1,805.00
	3	Handicapped Picnic Area (with symbol)	12"x18"	1	\$ 95.00	\$	95.00
ulatory	4	Dangerous Currents, No Boating/No swimming	18" x18" (two signs back to back on one post each)	2	\$ 361.25	s	722.50
5	5	No Parking (use universal symbol)	12" x12"	8	\$ 70.00	\$	560.00
	6	No RV Parking in this area (co- locate on P6 post)	12" x 18"	1	\$ 95.00	s	95.00
	7	Stop Signs within Parking Areas	30" x 30" hexagonal	7	\$ 112.50	\$	787.50
	8	Speed Limit 15 mph	12" x 18"	20	\$ 95.00	\$	1,900.00
	9	Staff Parking Only between signs	12" x 18"	2	\$ 95.00	\$	190.00
	10	Stop Signs at Beach Park Entrances/Exits	30" x 30" hexagonal	6	\$ 112.50	\$	675.00
	11	Directional Use sign (6 pictorials with arrow plates; restroom, showers, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
	12	Directional Use sign (4 pictorials with arrow plates; concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
Directional	13	Directional Use sign (5 pictorials with arrow plates; restroom, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
	14	Directional Use sign (3 pictorials with arrow plates; restroom, concession, picnic area)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
	15	Directional Use sign (4 pictorials with arrow plates; restroom, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
	16	Directional Use sign (4 pictorials with arrow plates; restroom, concession, RV parking, fishing,)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	s	300.00
	17	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00
	18	Directional Use sign (2 pictorials with arrow plates; boatramp, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.00

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs		Price Each	I	Total
		Disastination			0.0		100	N July 18 years
	19	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	300.00	s	300.0
	20	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	300.00		300.0
5	21	Directional Use sign (3 pictorials with arrow plates; ADA parking, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	s	300.00	s	300.0
CHANGE STATE	22	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	\$	300.00	\$	300.0
		Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	300.00	\$	300.0
	24	North Park Entrance Sign	7' x 4' - 10"	1	\$	15,030.00	\$	15,030.0
	25	Main Entrance Park Sign	7' x 5' - 10"	1	\$	13,950.00	\$	13,950.0
	26	South Park Entrance Sign	7' x 4' - 10"	1	\$	15,030.00	\$	15,030.0
	27	Parking Lot 3 ID Sign	18" x 24"	1	\$	3,030.00	\$	3,030.0
	28	Parking Lot 4 ID Sign	18" x 24"	2	s	3,030.00	s	6,060.00
	29	Parking Lot 5 ID Sign	18" x 24"	1	s	3,030.00	\$	3,030.00
	30	Parking Lot 6 ID Sign	18" x 24"		\$	3,030.00	s	6,060.00
	31	Parking Lot 7 ID Sign	18" x 24"		\$	3,030.00	_	6,060.00
	32	Pictorial Park Rules (single sided)	5.5" x 5.5" each, 5.5" x 5' overall panel	35	\$	335.00	\$	11,725.00
		Standard Rule Sign (double sided)	36" x 48"	5	\$	8,265.00	s	
		Pictorial Park Rules (mounted on pavilion column)	5.5" x 5' panel		\$	88.25	\$	41,325.00 264.75
	ַ	DISCRETIONARY FUNDS					\$	7,500.00
					-			
				то	TA	L	\$	140,064.75

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs	Price Each		Total
le d	A STATE OF	Tarking Lot orgin Language	MUNICATION OF MICONESS	# Of Origins	Water State of the	900	1000
	1	Authorized Vehicles Only (field verify location with lifeguard and maintenance personnel)	12"x18"	6	\$ 45.00	\$	270.00
	2	Handicapped Parking (with symbol)	12"x18"	19	\$ 95.00	\$	1,805.00
	3	Handicapped Picnic Area (with symbol)	12"x18"	1	\$ 95.00	\$	95.0
Regulatory	4	Dangerous Currents, No Boating/No swimming	18" x18" (two signs back to back on one post each)	2	\$ 361.25	s	722.5
5	5	No Parking (use universal symbol)	12" x12"	8	\$ 70.00	\$	560.0
	6	No RV Parking in this area (co- locate on P6 post)	12" x 18"	1	\$ 95.00	\$	95.00
	7	Stop Signs within Parking Areas	30" x 30" hexagonal	7	\$ 112.50	s	787.5
	8	Speed Limit 15 mph	12" x 18"	20	\$ 95.00	s	1,900.0
	9	Staff Parking Only between signs	12" x 18"	2	\$ 95.00	\$	190.0
	10	Stop Signs at Beach Park Entrances/Exits	30" x 30" hexagonal	6	\$ 112.50	\$	675.0
	11	Directional Use sign (6 pictorials with arrow plates; restroom, showers, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.0
	12	Directional Use sign (4 pictorials with arrow plates; concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	\$	300.0
Directional	13	Directional Use sign (5 pictorials with arrow plates; restroom, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	s	300.0
	14	Directional Use sign (3 pictorials with arrow plates; restroom, concession, picnic area)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	s	300.0
	15	Directional Use sign (4 pictorials with arrow plates; restroom, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	s	300.0
	16	Directional Use sign (4 pictorials with arrow plates; restroom, concession, RV parking, fishing,)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00	s	300.0
	17	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00		300.0
	18	Directional Use sign (2 pictorials with arrow plates; boatramp, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 300.00		300.0

	Item No.	. Parking Lot Sign Language	Sign Size	# of Signs		Price Each		Total
Sant Sant	19	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	s	300.00	s	300.0
Directional	20	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)		1	s	300.00		300.
	21	Directional Use sign (3 pictorials with arrow plates; ADA parking, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	s	300.00	s	300.0
	22	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	\$	300.00	\$	300.0
	23	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$		\$	300.0
	24	North Park Entrance Sign	7' x 4' - 10"	1	\$	15,030.00	s	15,030.0
	25	Main Entrance Park Sign	7' x 5' - 10"	1	\$	13,950.00	s	13,950.0
	26	South Park Entrance Sign	7' x 4' - 10"	1	\$	15,030.00	\$	15,030.0
	27	Parking Lot 3 ID Sign	18" x 24"	1	s	3,030.00	\$	3,030.0
	28	Parking Lot 4 ID Sign	18" x 24"	2	\$	3,030.00	\$	6,060.0
3	29	Parking Lot 5 ID Sign	18" x 24"	1	\$	3,030.00	s	3,030.0
	30	Parking Lot 6 ID Sign	18" x 24"	2	s	3,030.00	s	6,060.00
	31	Parking Lot 7 ID Sign	18" x 24"		\$	3,030.00	\$	6,060.00
	32		5.5" x 5.5" each, 5.5" x 5' overall panel	35	\$	335.00	\$	11,725.00
		Standard Rule Sign (double sided)	36" x 48"	5	\$	8,265.00	\$	
		Pictorial Park Rules (mounted on pavilion column)	5.5" x 5' panel		\$	88.25	\$	41,325.00
		DISCRETIONARY FUNDS					\$	7,500.00
				то	TA	L	\$	140,064.75

West Central Signs

(DBA SignStar)

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs	Pri	ce Each	400	Total
0	NOT SE		《加工》的一个一个一个一个一个		200		1913	
	1	Authorized Vehicles Only (field verify location with lifeguard and maintenance personnel)	12"x18"	6	\$	383.00	s	2,298.00
	2	Handicapped Parking (with symbol)	12"x18"	19	\$	399.00	\$	7,581.00
	3	Handicapped Picnic Area (with symbol)	12"x18"	1	\$	383.00	\$	383.00
Regulatory	4	Dangerous Currents, No Boating/No swimming	18" x18" (two signs back to back on one post each)	2	\$	412.00		824.00
Reg	5	No Parking (use universal symbol)	12" x12"	8	\$	350.00	\$	2,800.00
	6	No RV Parking in this area (co- locate on P6 post)	12" x 18"	11	\$	383.00	\$	383.00
	7	Stop Signs within Parking Areas	30" x 30" hexagonal	7	\$	558.00	\$	3,906.0
	8	Speed Limit 15 mph	12" x 18"	20	\$	383.00	\$	7,660.0
	9	Staff Parking Only between signs	12" x 18"	2	\$	383.00	\$	766.0
	10	Stop Signs at Beach Park Entrances/Exits	30" x 30" hexagonal	6	\$	558.00	\$	3,348.0
020								
	11	Directional Use sign (6 pictorials with arrow plates; restroom, showers, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$	1,280.00	\$	1,280.0
	12	Directional Use sign (4 pictorials with arrow plates; concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$	1,171.00	\$	1,171.0
Directional	13	Directional Use sign (5 pictorials with arrow plates; restroom, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$	1,227.00	\$	1,227.
	14	Directional Use sign (3 pictorials with arrow plates; restroom, concession, picnic area)	12" x 12", 12" x 9" arrow plates	1	\$	1,119.00	\$	1,119.
	15	Directional Use sign (4 pictorials with arrow plates; restroom, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	s	1,171.00	\$	1,171.
	16	Directional Use sign (4 pictorials with arrow plates; restroom, concession, RV parking, fishing,)	12" x 12", 12" x 9" arrow plates	1	\$	1,171.00	s	1,171
	17	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	1,171.00	\$	1,171
	18	Directional Use sign (2 pictorials with arrow plates; boatramp, fishing)	12" x 12", 12" x 9" arrow plates	1	s	1,058.00	\$	1,058

West Central Signs

(DBA SignStar)

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs		Price Each		Total
		District REPOSITIONS			200	And the second	100	
	19	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	1,171.00	s	1,171.0
tional	20	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	s	1,227.00		1,227.0
Direc	21	Directional Use sign (3 pictorials with arrow plates; ADA parking, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	s	1,119.00		1,119.0
	22	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground)		1	\$	1,227.00		
	000	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	1,227.00		1,227.0
	24	North Park Entrance Sign	7' x 4' - 10"	1	\$	9,307.00	\$	9,307.0
Entrance	25	Main Entrance Park Sign	7' x 5' - 10"	1	\$	8,333.00	s	8,333.00
	26	South Park Entrance Sign	7' × 4' - 10"	1	\$	9,307.00	\$	9,307.00
	27	Parking Lot 3 ID Sign	18" x 24"	1	s	1,964.00	\$	1,964.00
	28	Parking Lot 4 ID Sign	18" x 24"	2	5	1,964.00	\$	3,928.00
	29	Parking Lot 5 ID Sign	18" x 24"	1	s	1,964.00	\$	1,964.00
ŀ	30	Parking Lot 6 ID Sign	18" x 24"	2	\$	1,964.00	s	3,928.00
	31	Parking Lot 7 ID Sign	18" x 24"		\$	1,964.00	\$	3,928.00
	32 F		5.5" x 5.5" each, 5.5" x 5' overall panel	35	\$	1,130.00	s	39,550.00
	33 8	Standard Rule Sign (double sided)	36" x 48"	5	s	2,427.00		10 105 00
	F	Pictorial Park Rules (mounted on pavilion column)	5.5" x 5' panel	50	\$ \$	629.00	\$	1,887.00
	0	DISCRETIONARY FUNDS					\$	7,500.00
				-	TA		\$	149,019.00

West Central Signs

(DBA SignStar)

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs	Pri	ce Each	Total		
30	Same Seal							1	
	1	Authorized Vehicles Only (field verify location with lifeguard and maintenance personnel)	12"x18"	6	\$	371.00	\$	2,226.00	
	2	Handicapped Parking (with symbol)	12"x18"	19	\$	386.00	\$	7,334.00	
	3	Handicapped Picnic Area (with symbol)	12"x18"	1	\$	371.00	\$	371.00	
ulatory	4	Dangerous Currents, No Boating/No swimming	18" x18" (two signs back to back on one post each)	2	s	400.00	\$	800.00	
8	5	No Parking (use universal symbol)	12" x12"	8	\$	339.00	\$	2,712.0	
	6	No RV Parking in this area (co- locate on P6 post)	12" x 18"	1	\$	371.00	\$	371.0	
	7	Stop Signs within Parking Areas	30" x 30" hexagonal	7	\$	540.00	\$	3,780.0	
	8	Speed Limit 15 mph	12" x 18"	20	\$	371.00	\$	7,420.0	
	9	Staff Parking Only between signs	12" x 18"	2	\$	371.00	\$	742.0	
	10	Stop Signs at Beach Park Entrances/Exits	30" x 30" hexagonal	6	\$	540.00	\$	3,240.0	
	11	Directional Use sign (6 pictorials with arrow plates; restroom, showers, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$	1,237.00	\$	1,237	
	12	Directional Use sign (4 pictorials with arrow plates; concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	s	1,132.00	\$	1,132.	
Directional	13	Directional Use sign (5 pictorials with arrow plates; restroom, concession, RV parking, fishing, ADA parking)	12" x 12", 12" x 9" arrow plates	1	\$	1,186.00	s	1,186.	
	14	Directional Use sign (3 pictorials with arrow plates; restroom, concession, picnic area)	12" x 12", 12" x 9" arrow plates	11	\$	1,082.00	\$	1,082.	
	15	Directional Use sign (4 pictorials with arrow plates; restroom, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	11	\$	1,132.00	\$	1,132.	
	16	Directional Use sign (4 pictorials with arrow plates; restroom, concession, RV parking, fishing,)	12" x 12", 12" x 9" arrow plates	1	\$	1,132.00	\$	1,132	
	17	Directional Use sign (4 pictorials with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	1,132.00	\$	1,132	
	18	Directional Use sign (2 pictorials with arrow plates; boatramp, fishing)	12" x 12", 12" x 9" arrow plates	1	\$	1,023.00	\$	1,023	

West Central Signs

(DBA SignStar)

	Item No.	Parking Lot Sign Language	Sign Size	# of Signs	Price Each		Total
		Directional Use sign (4 pictorials				100000	
	19	with arrow plates; boatramp, picnic shelter, RV parking, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 1,132.00	\$	1,132.00
ional	20	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 1,186.00	\$	1,186.00
Directional	21	Directional Use sign (3 pictorials with arrow plates; ADA parking, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	\$ 1,082.00	\$	1,082.00
	22	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground)	12" x 12", 12" x 9" arrow plates	1	\$ 1,186.00	\$	1,186.00
	23	Directional Use sign (5 pictorials with arrow plates; boatramp, picnic shelter, restrooms, playground, fishing)	12" x 12", 12" x 9" arrow plates	1	\$ 1,186.00	\$	1,186.00
	24	North Park Entrance Sign	7' × 4' - 10"	1	\$ 8,993.00	\$	8,993.00
Entrance	25	Main Entrance Park Sign	7' x 5' - 10"	1	\$ 8,052.00	\$	8,052.00
	26	South Park Entrance Sign	7' × 4' - 10"	1	\$ 8,993.00	\$	8,993.00
	27	Parking Lot 3 ID Sign	18" x 24"	1	\$ 1,898.00	\$	1,898.00
ng Lot ID	28	Parking Lot 4 ID Sign	18" x 24"	2	\$ 1,898.00	\$	3,796.00
5 J	29	Parking Lot 5 ID Sign	18" x 24"	1	\$ 1,898.00	\$	1,898.00
Par	30	Parking Lot 6 ID Sign	18" x 24"	2	\$ 1,898.00	\$	3,796.00
	31	Parking Lot 7 ID Sign	18" x 24"	2	\$ 1,898.00	\$	3,796.00
	32	Pictorial Park Rules (single sided)	5.5" x 5.5" each, 5.5" x 5' overall panel	35	\$ 1,092.00	\$	38,220.00
Rules	33	Standard Rule Sign (double sided)	36" x 48"	5	\$ 2,345.00	\$	11,725.00
	34	Pictorial Park Rules (mounted on pavilion column)	5.5" x 5' panel	3	\$ 608.00	\$	1,824.00
		DISCRETIONARY FUNDS				\$	7,500.00
				т	OTAL	s	144,315.00